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© 5. CHANNEL AUGMENTATIONS

Current channel bandwidth in NTSC standard is limited within 6MHz, which
is sufficient to broadcasting of the EDTV. The channel bandwidth for HDTV
signal transmission should be at least 9Hz. In order to transmit the picture
signals appropriately, the phase characteristic should also be guaranteed or
specified. The pass-band of the signal should therefore have more than 8.1Miz.
The performance is proven excellent through the experiment of Washington, D. C.
in the beginning of this year. In arder to acquire the band, two contiguous
channel should be assigned for the particular HDIV channel(s). The current UHF
terrestrial broadcasting channel has 6MHz band. The most adequate channel
bandwidth for the HDIV signal channel as a result, is 12MHz, which is two
channel bandwidth of the current NTSC channel.

5. UHF ONLY OR BOTH UHF AND VHF

the clock regeneration of the receiver. In order to avoid the interferences, it
is better to transmit HDIV signals in UHF band only. The highest quality
picture, of course, could be reproduced by the satellite transmission.

7. ECONOMIC ADVANTAGES AND DISADVANTAGES OF THE SPECTRUM

The high IF band receiver for the HDTV reception is not easily
implemented, because the system requires quite high phase linearity and
amplitude linearity. However, the technical development could be so significant
that such difficulties can be solved in the near future. We expect, the
theoretical cost of the wide band tuner will not be as expensive compared to
that of the conventional receivers.

The theoretical cost of the EDITV receiver to ocomply with the
requirements will not be high. However, there might be ghost problems as well.

8. HOW MUCH BANDWIDTH FOR ATV
TO BE DETERMINED after thorough examination.

9. IMPACT QN EXISTING NTSC






